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0 (ds)? 000 Lorentz 00 0000000000000 O0O0O0OOODOODOOOO
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gbboogbogobobooobuooobooboboobboobobboonbn
gboobodbbbooobobbogobooobbodboobbuoobboonon
gbooboooogdgg

1.1 O0ogod

gbooggbobboogbboooboooboooboooboooooboon
goobobogbooobboobboobbooobooobuooboobuoonoon
gboboggbboggboobbuodb40bb00bboobbuoobbbboonn
goobbogobobogobogoboooboobuoobobuooboboonoon
Oboboobobooobuobboboobdl Loerentz UDOODOODODOODOO
gbobgobogoboooboooboooooboboooboonoboonoon
gboboboooobbbuooobbbuooobobbboooubo

1.1.1 Lorentz O U

000 R(t,z,y,z) OOOOOO0O0OOODOODOOODOOOOOO v0O 20000
O000000ooooo (S—=0) Si,2,y,7) 00ooooooooooogg
OO000D00b000000000 Lorentz DODOOOOOOO

z =~y(z" 4+ vt"), tzv(t'—f-:—zx') ., y=y, z=2 (1.1)
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1.1.2 Lorentz OO

Lorentz 00 00000000000000000000000000000C
00000000000000000000000000000000000000
000000000000 (ds)?

(ds)* = (cdt)” — (dz)* — (dy)* — (dz)*

gboboooogg

1.1.3 Minkowski [0 [

00 (ds)*> O Minkowski O Lorentz 000000
(ds)* = (cdt)” — (dz)* — (dy)* — (dz)* (1.2)

000ddooooobobobooddododd Lorentz 0
r=v(" +ot"), t=~ (t' + %x') , y=vy, z=2 (1.3)

OO0O000000O000O00obO0oboboOobobOOMinkowski OO0O0OD0OOOOOO
HRN

(ds)? = (cdt)® — (dz)* — (dy)* — (d2)* = ¢"dzx,dx, (1.4)
oooooddoodds”, dr, O
dzt = (cdt,dx, dy,dz), dx, = (cdt, —dz, —dy, —dz) (1.5)

gbobobooodgbbboooobob g U

1 0 0 0
gv_| 0 -1 00
0 0 -1 0
00 0 -1

gbogbobogobbogboobbobodobooogoboon g»oooon
00 (metric tensor) 0000000000000 O0O00O0OO g 000000
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1.2 0000000

(ds)? 0 Lorentz 000 0000000000000 0000O0OOOOOOO
O0000o00O000oo0o0o0onD (14)000000000000000000
000000000000000000000 (ds)?00000000000000
oboobboobooobooobooboobon

1.2.1 (ds)>* 0000

00 (ds)? 00000000000000000000(ds)? 0000 Lorentz [
00000000000000000000000000000000000000
00000 (ds)? 000000000 Lorentz 0000000000000000
00000000000000000000000000000000000000
000000000000000000000000000000 Lorentz 000
00000000000000000000000000 (ds)?000000000
00000000000,00000000000000000000000000
000000000000000000000000

1.2.2 (ds)?000000000

0000000 (ds)* 000000000
(ds)* = g"dx,dx, (1.6)

gobobobbobooogooobboobbboooooooobbuooooooboooo
gboodbbooggbbobuodgbbuoouobbogobobbuoobboonn
gbobooguooobogbobooogoboooboobbuoobbuooboboonoon
gbobuoooobbbodoodonbo

1.2.3 ¢ 00000 on

oooooooooD (1.2)0000000 g™ ODODODOOO0OODODODOOOOOO
O0000000oooooooD gw 0000000 (0D0)oooooooooooO
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1.3 0O0O0oogo

OO0000000000 Einstein 00000000000 OODOOOO g™ O
000000000 joo000o0oooooo0o0ooooooooooooo
gooooooooboooog g boboboboobobobobobgbg
O Lorentz D0 UOD0O0O0O0ODOODOOOOODOODOODODOODO g 00OD0OO
000000000000000 (ds)? 0000000000000000000O0
000000 (ds)? 00 (1.2) 0000000000000 O0OOOOOOO0O g™
000000000 (ds)? 00000000000000000000000O00O0
gbobboooobbbuooboboboooobbobuoooobbobooao

OO0 Einstein 0000000000000 O0OO0OOOOOOOOOOOOO
gbooboobuogubooggbooobboobboobbuoobbuoobboonn
goboboooobbboooboboboooobbbuooooobon

1.4 0O0O0O0O

gbbogobuogobuooobobbuoobbuoobbobboobooobood
gbobogobuogbbudbboggobuoobobuodgbbodbooobooon
gbboogbobooggbogobuooobuoboooboobobuoobboonn
gbobogbgdgbooggbogobogooobooobooobooooboonon
gbobbooggbbboogagbo

gbobogggoboogboooboooboooboooboooooboon
gbbogobogbobuoobobuoobbuoobbuoobboboouoobboonn
O0000o0o0oo0ooo(@ooo)oooo0o0oooooooooooooooOd
gbbodbbodoboobobbuodobbuoobuoobbooobooooann
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OboobooobobooboobbuoobuodbbO0ONewton UODDOOOOO
OO0 Dirac DO0O0ODOOO0OODOODOODOODOODOODODODOODODODODOO
gbooodbbogugbbuogbobooobooobooobooobboonon
gbboodgbogobuoooboobboboobobobooboboobboonn
gboobuoooobbbooogbboboooobbbogoobobobod

gboogboodobbodobboobodobboobboobbbobobood
000000000000000000000000 vO00 v~10% 000000
gobbobobobbobobobobbobbobobbbbbbob (%)2~10_8DDDDDD
0000000000000000000000(@0D0)00 #x10'000000
O000000 Newton OO0 0O0O0OO0OOOO0ODOO 030000000000
gboobooooboboogd

gbogobooobooobbooboboooboobobobobooobood
gbobooggbogoboogobooobuoobbuoobooooboobooboonon
gbbboogbboboooobn

21 UOo0boogbootdn

OO0O0DOO0000boooD Dirac UOODOODOODODOODOOODODOODO
000000000000000000000000000OD [2.0000000
gboboooboboboooobo

Vi _GmM 1 (

r 2mc?

GmM>2 (2.1)

r
godgbbobiobbibododooooououooobooooooooboobn
Zeeman U000 0O00O00OO00OO0OOOOOOOOOOOOOOOOOOOOO

gbobogobogobuogoobobuoobbuoobogboooboooboonon
OobooboobooooboooobooobobobooouobOod Zeeman 0O O



21. 00OOoOobOoobOod 11

gboboobodgbbugbobobbuabooobbuoobbuoobooobogn
goboboogobbobuoogobbbooooobboooooon

211 0O0O0oooooood

0(21)00000000000000000000000000000OOO0O0
gobodboooboboboobbooobooobbuooboobuoobooooon
gboboodbuodgbbodbboobbuoobbuoobbuoobuoooogboon
gobogoboboooboobboobooobooboboobbooboonoon
gbobbuoooobbbuodobobbooogbbobuoooobbooan

goooboooon Vc(r):%DDDDDDDDDDDDDDDDDDDDD
00000000000000000000000000000000000 (2.1)
gboboboooobbbdooobobbbooooobobooon

A (2.2)

1+ ecos <%<p>

r =

OO00000000000 KeplerUOODOOOOOOOODOOODOOODOOODOO
O00000000000000000000000000000000 A, 0 Ly
gobooo

L2
A, = GMgm2 (2.3)
G2 M2m2 1
L, = \/€2+Tmzé 1—|—772€<1—|—§77) (2.4)
O00O00oooooo,n0o
G2M2
1= o 2:5)

gooo
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212 00000OD0O0OO0OO0OOOOOOOO0
0000000 (22)0000000000000OOO0OOOOOO

1

L
Ccos (ngo) ~ cos(p + Encp) (2.6)

guddoboooooooooobobobobbon
r=rcosp, y=rsing (2.7)

0000000000000 cos(p+ inp) 00

1 1 1
cos(p + 577@) = écos (577@) — %sin (57790) (2.8)

gbboodbboodbboouobbuoobbuoobbuoobbbooobboonn
gooboooobobobooooboboooon

213 0O0O0OOoon
0000000000000 000000000o0o0o0O (2.2)

r= Ay
B 1—|—5cos(1—|—%17)<p

gbooboooobboboud »r0 =00 p=270000000000000O0
gbboboooobboboooobo

A,
= =0 2.9
T T oaxe 4 (2.9)
A,
" 1+ecosmn’ L (2.10)

0000000000000 000O000O0b00O0O00O0 Argoonono
1
ATET(SO:QW)—T(SOZQ)2§A97T27’]2620.15 cm (2.11)

gbouodbboboogbbodobbuooboobobbooboobbooboobn
gboobooggn



21. 00OOoOobOoobOod 13

214 00000O0O0OOODODOOO

godddooououoooooooobbbbbbboobbobbbobbbbobon
gbobbuodgooooobbbbuodooooobobobobooooooboboobo
gbobgdgbbogdgbobogbbodbboobbuodbuoobobboboooon
gbogbobuodgbbudbbooboooboobbuoobdoboooboonn
gboboooobbbooogbbboooobbbooobobon

gboogbobubodgbbodgbobooboobboobboobboobood
gbooggbogobogoboooboouoooobobooooboognooboonon
gbobbobobobouooogobbbbbuooooobbbbuoooooobboobo
gboogobuogbbuodgbbogboooboobobuoobbooooboonon
gbboodgbogdgbboodgbbodobbobbooobobboobobboonbn
gboboodbbogoogbboobbuoobboooboboboobobboonon
gbbboooobbbooood

gboogobuogbbodgbbogbooobobuogbbuoobbooboon
gbboodgbbuogbbboooboobbuoobboooobooouooboabn
gboboboogobbobogoboboooobbbuoooobboooad
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ooobobobobobooobobobobobobobooobobobob
obboboobobooboboobunb 0o nOoobobLbOobDO
oboboboboobooboboobooboobooboobooobon

dr T 9 [2mE n 2moa 1 1 (GmM\?
e = — =T _—
dy %) (2 Cro r2 2¢2 r

2mFE 2 1
= 22 /1% n ma 2 (2.12)
2(1+n)  2A+nr r?
oooooooo
— dr
I + ndgo - 2 2mE 2mao 1 <213)
r \/ﬁ(un) + ety 2

gbbboooobbbooood

GmM\?
n= (—e2c2 ) (2.14)
0
n~107° (2.15)

gobbbbbbotuodoooooobbbobobbbud poooooobbbbo
gbooooo

V1+nde ~dp (2.16)

gbboggbogobogoogoboboooboooboobobuoobboonon
gbobogdbboogbbbobodgbbooobbbooobobooboobon
gbobobodo
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221 0000O0OO0O0OO0O0O

gbogbbobuooggbbobuoooobobobobuoooobo

d 2mE 2 1
ar _ .2 me o, ame - (2.17)
dy 21+n  C2A+nr r?
gooooooooooobooboboboboboboootooooooooonon
A
p=—9 (2.18)
1+ecosp
ooooooooono A, 0
62
A, = ————(1 2.19
o=z (1) (219)

goboboboboodgdud eddooooobboobobbbodooooooobooon
gbogbbuogobooobobbuobbuooboodgbboobbobboonn
0000000 A4, 000000000000000000

000000 (218) 0000000000000 ODOOOOOOOOOOOOO
gobodboobooobboobbobbuoobobooboooboooboooon
gbobbuoooobbbuooobboboooooboo

222 000O0OOOOO

0000000000000 000000000000 (218) 000 @000

q0 — A
1+ecosp
oooooooo0o0 « (r=r@4+) 0000 #/ 00000000
dr’ 1 2mE 2mao 1
— = —p(r)? — 2.20
ap 2 )\/62(1+77)+€2(1+77)r(0) (r©)2 (220)

O00000000000000D0 000000000 Y 0ODOO0000D0O0OODOO
0000 e0000D0D0OO0O00ODOOOOO0OO0OODOOOOOO ~/O0D00 e00O0O
Oo00o0oooooooo O

'~ ConeA, (2.21)

000000000000 C, 0000000000000 00e 0 (e~0.0167) O
gboboboooobbbooggbboboooobbbuoobbobooooboon
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OO00O000oobO0o0obo0oboooobbo0obobonod Newton JOOOOODO
0000000000000 00000000000 [2[0ooooooooood
gbobobgbobobobobooobobobuoobobobobobobobg
gbbobuoooobbbooobboboooobbobuoooobboogo

231 0U0O0ObOOoooooobbouoooon

obobobooboobooboobooboobobbobo To

wT ~27{1 + 2n} (2.22)
goodooo nd
G*M?
= 2Rpi2 (2.23)

oboboobobboobo0o0 ROODODOUOODO0OwUODOOD Newton U0 T O

2
W= —
T
0000000000 oO0ooooo0ooooobooobooboooooooogo
OO0,00000 AT O

AT _

9 92.94
T n (2.24)

000 [2,3]000000 (2.24) 00000000 TO Newton 0000000
gboooobDbobbbo0obOo0lb Newton U OOOOOOOOOOOOO
gbobobooggbbobuoooobobood

000000000000000 ~10*00000000000000000O0
gobbobbbougoogobobbodoooobobbuoooooobooobo
gbgbobobogbodgbugbobbobooboobuoobuoobobobobo
gbobobogoobobbogobooboboooobobuooobboooan
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232 0000OODOOOOOOOOOO

D00000000000 ROODDODOO MOOODOOOOD wODODOOO
R=1496x 10" m, M =1.989 x 10* kg, w=1.991x10"" (2.25)

gboboboooobbooooboboo

AT »

gbduououououououououo
AT’Orbital Motion = 0.621 S/yeal" (226)

gobodbogoboooooobooobboobuooooobobboonoon
gbobooggbogoboooboooboboooooboooboobobooonon
goboboooobbbooobboboooobobbuoooobbboooon

ATt Motion == 0.625 £0.013 s /year (2.27)

00000000 (226)000000000000000O

233 0UU0Ooooon

OO000b00b0ob00oo0ogooogbd Newcomb OODOOOOOOOOODO
000000000000 00000D00000000000O0OoO0oOoO 4)00
OO0 NewtonianO OO ODUODOODOOOOOOOOOOOODOOOODODOOODOO
gbooboogobbbooogbbobooooboo
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gbobogobogobuogobuoobbuoobbuobooooboooboooonon
gbbooobogobuooboboobbuabobooobooboboobboonn
O00bo0oodbobooobbOobd Newcomb 0 1898 00 0O0O0OOOOOO
OO000000b0bbObOONewcomb D0 OOOOOOOOOOOOOODOO
gbobogobuogbbudgogbogoooobbuogbbodbooobooon
gbboogbobooobooobuooobuooboboobboobobboonbn
gooboogoon
gboboggbobbodbooobobooobbooobboobooobood
gbooodgbodgbobbogboobobobboobboobbuoobboonon
gbbogobogobuooboboobbooobooobooboboobboonn
gbobooggbogboogbogbogbooobooobooobooboboonon
gbboobogobootoboobbuoobboobboobbooboodgbodan
gboobbodgboogobogobogobooobooobobooboboobonon
gbbboooobbbuoooobbboooobboooood

3.1 UUbooubotuobuuoboubon

OO000bD0b0obo0oo0oobooboob0obOobOond Lagrangian

1 ., GmM 1 .y GmyM  Gmm,,
L=—-mr*+ + =My Ty + +
2 r 2 Tw |r — 7y

(3.1)

00000000oooooooog (m, r) 0 (my, r,) 00000000000
00000000000 (3.1)0Dooooooooooooooooooooood
gbobobboobooboboobobobuobobobobboobobobd
gboboboooobobooooobon
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3.11 000000000

gboboggbogobogobooobooooboooobobooboooboon
OO0o0O00ooooooboooobooobodbdbOl Lagrangian DO O0OO0O0O
goboboodd

1 . GmM 1 : ; Gm, M
L = —m(r2 + r2902) + —+ —mw(Tw2 + TZSDwQ) +
2 r 2 "
Gmmw
R (3.2)
V12412 = 2rry, cos(p — o)
goooooooooooboboobooooooooooooonon
wi = g - M _Cmmu(r —rycoslp = pu)) (g
r (r2 412 — 2rry, cos(p — pu))?2
d GmM w ' _rw
—(mr*¢) = — My, sinte = gu) 3 34
di (r2 412 — 2rry, cos(p — pw))?
G wM G w\Tw ™ _rw
MyTy = mwTwaQ - m2 o - <T TCOS(SO ; ))§ (35>
r2 (r2 + Tgu — 217y COS(SO - S%))z
d G wM w ‘ w
—(muri¢) = — T M7 Si0(w — ) 3 30
o (r2 412 — 2rry, cos(p — pu))?2
ogoond

3.1.2 0O0OO0OO

ODoo00oboobobooboboobbioobbOd Kepler DOOOOOOO
gboobooggn

GmM
mit = mrg? — = (3.7)
r
L mr2g) = (338)
5y (mr79) = :
00000000000000
A
. (3.9)
1+ecosp
00000000 AOD 0
Iz 2B
A=—, e=4\/l+=—— 00 (a=GMm) (3.10)
mo mao

gboboboogoobobuoooobbobodao
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3.2 UO0OOOoooonon

O0o000o00o0oooooooooooooooooooooboooboooon
ogogoogoooogg
2 GM Gy (r — 1y cos(o — o))

. on 3.11
m2r3 r? (r2 412 — 2rry, cos(p — ‘Pw))% o

gogooooooooooooooo -, r, 00dd R, R, OO0O0OOOO0O
doooooooooooooo
? GM Gmy(R — Ry cos(o — pu))

. B B 3.12
m?rd 1% (R4 R2 — 2RR, cos(¢ — o))} .

000000000 (3.12) 00000000000

3.2.1 Legendre 00
0000000 (3.12) 0 FOOO

Gmy(R — Ryx)
(R? + R2 — 2RR,z))?’

F(z)=— 00, z=-cos(y— ) (3.13)

gbobuooobouaogooon

GmyR Gmy Ry, (R2 — 2R?
Flo)= —— "t 70 fy - Vot (3.14)
(R?+ R2)2 (R*+ R2)>

O Legendre U0 U0 DO0O0OOOOODOODOODO

.2 GM  GmyRu(R? 2R
7= o + o R%U)% cos(p — @) (3.15)

gbobboogoobbobuoooobboooooooo
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3.22 00000

00000 (3.15)00000000000000000C0C00000O0O Kepler
ooooooo

o = O 1wt (3.16)

Vo = @O 4wt (3.17)

0000000000000 (3.15)0

.2 GM  GmyRu(R: —2R?)
F= s T + (Rt ) cos(b + (t) (3.18)

0000000 b, A0
b= -0, B=w-wy, (3.19)

goboboodgog

3.2.3 0O0OO

000 (3.18)0000o0o0o0ooooooooOoOoOoOOOOOOOOODOOOO
b -ro0oggbbboooobbbodn

KGmew(R?U — 2R?)
(R? + R2)2

r=r0 4

cos(b + (t) (3.20)

000 »© 0 Kepler 0000000
A

T(O):1+—Ecos<,0 (3.21)
0000000000 (3.20)0 O (3.1)000000oooog KO
1
K=-7% (3.22)
guoodouooooobobbbboooooo
r=r® _ G 2 (R, — 21) cos(b + (t) (3.23)

(R + R E
gogd
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3.3 Uouoouoooobogn

000 Kepler 0000 O 00000000000
A wRw(R2 — 2R?
r o= _GmR(Rw5 R>cos(b+ﬁt)
1 +ecosp (R? + R2)3 3
A

1 G P (1, —2F2) b 3t
+ecosp + 1) E (o )? cos(b+ ft)

000o0000obDn0 A~~RODOODODOD f=w—-w, 000000 g, O
_ 2R?
Gm,  (1-%)
RR2 _w2 5
2 (w w)<1+%§>2
O0O0O000000g v+pt=9p—p, OOOO0OO rO
A

T_l—i-ecosc,o—l—ewcos(gp—gow)
gdooououououououououoouoouooood

12

(3.24)

(3.25)

Ew

(3.26)

3.3.1 0000

oooboboboboboboooobooboboboboooobobon
O00000000000000 ecosp + ey cos(p — ) OO

£COS P + £y COS(P — ) = €1 €08 + ca8inp = 1/t + & cos(p + 0) (3.27)
00D 00ddddnd ¢ O e O

1 = €4 €y CoSPy (3.28)
o = Eysingy, (3.29)
O00OOcosd O
cosd = ——L (3.30)
000000000000 ¢, 0 e00000000O0OO0O0OO (3.30)0
w w 1 w 2 .
cosd = T _ :1——(8—> sin? p,, (3.31)
V(e + €4 cos )2 + (64 Sin @y, )2 2\e

gbooboooon
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3.3.2 UOUOUUOO0OOOUOOOO
0000000000000 oooooooooooo-

1 27 ) 1

_ i w A0 = — 3.32

o ), S Pwdew =3 (3.32)
000000000 oUoouoouoouoouoougo 60O

Cw 1 GM 1 (mw) <1_ %)

VEe VIS T Rl P WMy’
R,
: -
- ﬁs}fzuwwi Wi )? <n]t/l[U) ( Rw) (3:33)

obobobooboobooboobooboobobo



24 30 DoOobooboood

34 U0O0OOOOO

OO0 s00D0000DOO0O0O0DOO0ODOOOO0DOOOOO0ODODOO DOOOoOoboo
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